PART - A : GENERAL INTELLIGENCE & REASONING

Directions : In questions no. 1 to 3, select the reluted |Directions : In questions no. 10 to 14, find the odd

lefters fward | number from the given alternalives. word { number pair from e given alternatives,
@ Wine : Grape : : Whiskey @ 7 10, (A)  Antagomist {B) Opponent
\_}AJ Apple e CE.EE‘: (Y Adversary (1 Ally
i}y Potato (D) Oats 11. (A} Diagonal (B} Pentagon
8. 600 :2000:: ? 9000 (s (D) Ehoa
o e 40 12 (A) 354, L (B) 543, 453
(€ 3600 (D) 5400 iy 243, 432 {[3 234, 342
13, (A} Thekkady (B} Vedanthangal
% A0 GAT RO () Bandipur (D} Mueduomalai
V({} WLT L 14, (A} Livefox i3] Internel Explorer
(C) GAD Dy OWT (y  Chrome (M Google:

Directions : In questions no, 4 and 5. which one z¢f 15, . Find lhe correct zet of numbers from the
of letters when sequentially ploced at the gaps in the

: : Lk piven allernatives.
given letter series shall complele it}

(4, 3. 2), (16, 9, 4), (256, 81, 16)]

4. _apabab_ab_ab_bba (BBRRE S8l o
(A) abba (B} bbaa [4) 190, 20 (B 6631, 286
((2) baaa (11 ahaa (C1 6661, 256 (I} 1488, 87
5. PR P T e Directions : In guestions no. 16 to 21, select the
i G = missing nuriber from the given reaponses.
(A} habb iB) abha "
16. o 1 25
(C1 abab i) abaa G o 1%
Directions : In quesiions no. §f o 8, a series is given, 10 4 25
with one term missing, Choose the correct alternative 3 4 H
frenn the given ones thatl will complete Lhe series. ! (B 10
6. CYE, BE5H, G12E, Ta7N, 7 LR B My 3
(A1 1570 (B} ISBF i 17, B3 :l-IErE'Ei, T . BORG
(C) J68Q (M) K5BQ (A) 67h5 (B} 7243
r (3 6363 (D} 2662
7. BEH, DGJ, NQT, * 3 i
X% Hilen sl o 18, B1, 40,38, " .51, BS, 60
ol ; ‘ (A} 45 (B) &0
{Cy (HD (D) JMP (©) 35 M) &5
B. Ay Y,B, XCq Wb, 7 4 19. 6, 14,30, 7
(A) VE, (B) VE. (A o8 (B 54
C E.V D) WB- : ey 20 (D) 27
9, deb, ijg, nol, ? , xvy 20, 4 : 3] 10
5 = a6 2 19 2 g
1oat (B) at
e 1 a0 (A) 64 (B} 144
il (D) 18y ©) 55 (D 100

T K E



21.

22.

23,

24,

16 a2 45 64
17 34 b1 68

18 a6 4 ?
Ay T8 By 77
(C) 72 (I 74

Hix girls are slapding in such a way Lhat
they form a circle, faring the centre. Subbu
ia to the left of Pappu, Revathi is betwesn
Subbu and Nisha, Aruna 18 belween Pappu
and Keerthana. Who is to the left of Pappu 7

(A) Aruna (B} Subbu
iC) Heerthana (D) Nigha

Nageebah runs for 10 km in the eastern
direction. She then
walking for 6 km:. Again, she turns left and
starts running for 6 km. Then she turns lefi
and walks again for 6 km. How far is she
from the starling point ? g

(4 3 km (B} 4 km
) 5 km (13 B km

turns lelt and starts

In the following problem,
= stands for +
+ stands for -
x astands for =
— stands for =
> stands for 4+
< stands for x
+ stands for <

When these new symbolz are subsiituted,
only one will he wrong. Identify the wrong
one,

(M) 252 «8%8-5
(B 4<2+5+8xb
() 4=2+5=8x0D
M 4<2>5+8x5

Directions : In questions no, 25 to 27, from the given
allernatives select the waord u,'f::.ir.‘h cannot be formed
using the letters of the given word,

25,

INTERNATIONAL
(A) TERMINAL By ORIENTAL
(C) RATIONALE (D} LATTER

26.

27.

28.

29.

30,

41,

33.

DEPRECIATE

(&) PRIDE (B} PEACE

{CC) REPRIEVE (N CREDIT
TENDENTIOUS

(A) STUDENT {B) INTENTION

(C) DENTIST (D) TENT

You  have to follow the symbelic

interpretation to solve the guostion.

+ = Greater than x = Equal to
— = Not less than 1. = Not equal to
| = Less than
¢ = Mol greater than
Then it A — B & C, which of the following is
implied 7 .
{A) AoB|C (Bl A[B+C
{C) A|B|C (D) A+B-C
If A stands for +, @ stands for —, V stands
for », R stands for <, then what iz the value
of the given cquation 7

S R5ABIQ13VE=T
{A) 878 (B 376
(C} 15 (D) 478
Il ench of the letters in the English alphabet
iz  assigned an value
beginning A = 2, B = 4 and se on, what will
be the total value of the letters for the word
INDIA 7
(A) 94 (By 72
(C) &6 (D) 74
If ‘STYLE' iz written-as PQVIE, how can
‘SMELL’ be written in that code 7

even numerical

(A) PJIII (B} PJBIIL
(C) PVEBIIL (D) PVHII
Select the correct combination of

mathematical signs to replace ¥ signa and to
balance the given equation.

BeBr0Eed =0
(A) +-—x By =+ -
() D) —-x+
If P denotes +, €} denotes x, R denotes <+ and
S denotez — then 12 Q ISP3R456=7
(A) 68 AR TO
(C) 57 (D) BE

»o—
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34. A boy was miedirected from hiz way while
refturning to his home from his school. In
order to reach hiz home, he [rst moved 3 km
in aculh direclion and then turned to his lefl
and moved 2 lm in straight divection en the
read leading to the east. From there, he
moved to his lefi and walked 3 km. After
this, he again turned ko his left and moved
1 km. Finally ke reached his home The

home of the boy was in which divection from |

his school ?
iA) East :
0l West

H)
(T

Souih
Morth
If BENT iz writlen as + A %= and ANT is
!, then how is TEN written in

35.
wrillen ag ‘v
that code ?

A
£83]

—® A (B]

(I +-x

gt
— A X :
36. EHam walks 10 m Soulh' from hiz housc,

turns left and walka 26 m, again furns loft
and walks 40 m, then tuwms right and walks

3 m to reach the achool. In which dircelion is |

the school from his house ?
(A Fast (B Norlh
() South-West (D) North-East

Directions : In questions no. 37 and 38, o stutemend
iz given followed by fwo conalusionsassumptions,
You have to consider the statement {o be true even if il
seets (o be af rarionee from commonly hnown joets,
You have {o decide which of the given
eonclusions/ assumplions, f anv, follow [frem the
Fven sfalement,

37. Siatement :
If peaple are intelligent they should be
crealive.
Assumptions
I Creativity and intelligence are relatiad.

[1.  Creative people are intelligent.

{A)  Both assumplions 1 and 1T are valid
(B} Both assumplions 1 and 1T are invalid
(21 Only assumption T is 'valid

(DY Only assumplion II is valid

HE R

410,

Statement ;

A friend in need @2 oa friend indeed.
Coviclusions :

i All are friends in good Limes.

1. Hrnomice in bad Ltimes are not friends,

(A} Hoth conclusions T and 1 follow
(I3 Neither conclusion T nor IT follows
( Only cenclusion I follows

(1 Only conclusion 1T fallews

Which of the fonr cuhes given in the answer
[izure can be created by folding the design in
question figure

Euestion fimure :

Answer figures

&

{1

&"/

{A)

-

{C) .

The figure below is a drawing of a pile of
blocks. When taken apart, how many blocks
would be there ?

Guestion figure :

<

(A) 5 (B) 8

c) a Iy 4

SPACE FOR ROUGH WORK
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41.

42,

43.

Which one of the following diagriama
rvepresents  the correclt relationship among

Poizon, Bie-praoducts and I'ood 7

w OO0 (B |C>@ !

(1

© Q00

In the given figure, the triangle represents

people . whoe  visited Mysore, the circle
represents people who visited Oety, the
squaTe  tepresenls  people  who | visited
Munnar. The porlion  which  represcots

peaple who visited both Mysore and Ouoly 1s
/\
L

(4) C (B) D
g G Dy B
In the following disgram, the iriaogle
represents  Mnthers,  ecirele  represects
Teachers and the rectangle stands for

Women., Which letter (oul of &, B, C and I}
represents womean who are maothers as also
ieachers 7

i
(A A B B
(c: D G

44.

Which of the answer figures iz not made up
of only the components of the key figure
(question fpare) ?

Question figwre ;

X

Anger figures

R

L8]

1

(D}

(A iBi

Directions : In guestions no. 48 and 46, which
answer ffowre will complete the patiern in ihe
rpuestion figure §

45,

41,

Srestion [igure -

/"
N

Arnsioer figares

]

ey

@3[_

Quesiion fiyure

kY

Answer figures :

e

0 3

<l o

e

{AY (Bl (G

SPACE FOR ROUGH WORK
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47,

48.

A piece of paper iz folded and punched as
shown below in the question fizures. From the
given anoswer figures, indieate how it will

appear when apenad,

fuestion fiowres ;

w :
e DOUU o0
e GDDI'J oo

i A ]
(A (R [ (m

From the given answer figures, select the one
in which the
hidden/embedded,

guestion figure s

Question figure :

Anzwer figures !

BRI

{A)

{0

B (11

49,

a0,

A word i3 reprosented by only one set of
numbera as  given in any one of the
alternatives, The sets of numbers given in
the alternmatives are lwu
classes of alphabels as in the matrix given
below. The wolumns and rows of matrix are
numbered fom 1 to 6, A letler {from the

representod Dy

- omatrix can be ropresented first by its row

and next by iy eolumn, cg, A can he
roepresenied by 42, 46, 62, cle. and P can be
represented by 15, 43, ste Similarly, you
have to identify tho set for the word *SN{OW:,
| 1ol 2| 24 |5 s
2 50 2 i (T e
S|GIN(D|Z]|J
BT T e L
VIAIP A
MIW[C|O|X|N
Bla|E|IIL|[O

0
et

mU!F‘-;J-"H].—'

(AT i 2R EE L RS

By 21, 14, 23, 56
(Cr 21, 56, 62, 44
i

16, 56, 46, 35

From the answer figures, find out the figure
which {8 the esxacl mirror image of the
guestion figure, when the mirror is placed on
Lhe line ‘MN'.

fluestion figure ;

Answer figures :

(A) (B (e (D}

SPACE FOR ROUGCGH WORK

AC 2013/Page. 10



39.

FOR VISUALLY HANDICAPPED
CANDIDATES ONLY

From the given alternatives, select the word
which cananof be formed using the letlers

miven in the words.
CHTEF MINISTER

A} BISTER (B) FISH

Gy NEST 1y THIEF

Directions : In questions no. 40 and 41, find the

mitasing number in the series.

40,

41.

42,

43.

1,5 14 30, 55, 7

(A} 91 (B) 93
(C) 63 (I 9n
1234 {36) 5ETH
2346 (7 ) 6789
(A 41 (1340
{C) 33 m) 44

A series is given with one term mizsing
Chooze the correct allernalive from the given
ones that will complete the series.

23, 51, 108, 225, 7 , 936
(A) 628 (B) 459
{C) 531 (M 327

Find the odd one from the given altcrnatives.

{A)  Inland leller
(B} Envelope

() Scribbling pad
(I Aerogramme

Direetions :

fn questions no. 44 ¢o 46, find {he

| related word from the given allernatives,

44,

45.

46,

47.

48.

417

al,

Philatelist : Slamps : : ¥

(A} Numismatist : Coins

(B Astrologer : Prediclivns

i)  Carpenter : Saw

(D} Runner : Snealkers

Page : Pen : : Computer : L

(A) Keybosard (B) Monitor
(C) AP (M Cartridge |

Wimbledon Trophy @ Tennis : ¢

Walker Cup : 7
B Golf
(1 Polo

(A Wrestling
0 Hockey

Six porsons A, B, C, D, E and F are walking
in a line. C is in front of B. D is behind A,
but in Front of C, F is behind A, but in front
of D. F is in front of A. Whe is walking on
the extreme back ?
{A) F

icy B

(B) T

m C

B is South-West of A, C iz to the East of B
and Soulh-East of A and 1) iz to the North of
(7 in line with B and A. Tn which direction of
A is D located 7
(A South-West
(C) Naorth

{B) North-East
(D) East
If in a language VARANASL iz coded as

WRSRORTI, which word would be coded as
BMJISRHT 7

Ay ALIARHG
{C)  ALIGARII

By ALIGRAH
(D ALTRAGH
Raju introduced a man, “He is my daughter’s

waternal uncle’s nephew’s grandfather.,” How
i# Raju rolated with the man ?

(A} Brother-in-law
(o

(B) Father-in-law

Son-in-law (17 Maternal uncle

AC 2013/Page. 12
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al.

53.

51.

a7.

PART -1 : GENERAL AWARENESS

Value-added means value of

(A) goods  and services  less  cost of
intermediate goods and serviees

(B]  output at factor cost

{C} output at market prices

(13 poods and services less depreciation

The difference between GNP and
cquals

NNF

(A)  depreciation (B} corporate pralits
(1 personal laxes (I traosler paymwents
Who decides a 'bill' is a money bill 7

(A1 President

{B} Prime Minisler

(ch
(D3

Speaker of Lok Sabha
Chairman of Rajya Sabha
Which of the ollowing couniries is regarded as
the home of ‘Tabian Secialism’ ?
(&) Ttaly HEY]
() England 1

Rusaia

France

Stagflation relers to a situation which is
characlerised hy

(4)  inflation and rising unemployment
. (B) etagnant nmpjn}rlﬂent and deflation

(01 defllation and rising unemployment

(3 infation and riging emplovment

The demand for neccesitins is

{A)  perlectly clastlic

B} elastic

(€Y perfectly inclastic

(D) inelastic

The balanee of paymenta of a colntey is in

equilibrivm when the

{A)  demand for the domestic currency is the
lowest i

{B) demand as well as supply of the
domestic currency are the highest

(73 demand for the domestic curroney is

equal to 1ts supply
(T demand i the domesiic currency is the

highest.

a8,

60.

61,

62,

B3,

64.

conatilutional status
piven moch later alter its intreduction in a
srnal] way in 18894 -95 7

TA) {13 Customs Duly

iCi (I Taxea on Services

The firsn Sulian whn requestad and obtained

For which tax, was

Imeome Tax

Corporation Tax

letters  of  investitore  from  the  Caliph
iKhalifal waz

(A} Alauddin Khilji  (13)  [ltalmish

2} Balban (1Y Firuz 'l'u}.:rhluq

The Buddhist monk who apread Buddhiam in
Tibet was

(A Padmasambhava (B) Nagarjuna

i Ananda (D Asanga

In 1937, an cducational conferenee endorsing

Garndhi's  proposals  for  ‘basic  education’
" throuwgh the vernacular medium was held at

A Wardha (1) Surat

{CY Bombay (11 Ahmedahad

“Whatl iz the Third Estate 7" pamphlet —
pespciated with the French Hevolution, was
wrillen by

(A} Abbe Sieyes (B Marguis Lafayotte
(£ Edmund Burke (1) Joseph Foulon
Gendhi’s Salt Satyagraha was a part of

(A1 Cisval Tdianbhedience Movement

(31 Champaran Salyagraha

(G Quit India Movement

(1) Non-Cooperation Movement

Which of the fMllowing high dignitaries, who
are not members of Parliament, has the
right to address it ?

{A1]  Chief Election Commissioner of India
{8} Chief Justice of [ndia

() Atterney (feneral of India

(L Solicilor General of [ndia

The Treclaration of American Independence

was based on the theory of

(A) Nutural Rights
(B Ciwvil Righta
(21 Moral Rights
(1 Lepgul Righls

AC 2013Mage. 14
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G,

69,

G8.

4.

0.

T1.

72,

T4.

A

The nuelear particle having no mass and no
charge, bul only spin is

(A} electron (B proton
(C} mentring (1} mezon
The lechnolegy that is used to eslablish

wireless nelworking is
(A&)  Bluetooth

() JIME

Whal 1= USB ?

By TCPIP -
(D MATLAR

(A} Tlrgent Sent Bil

(B TItimate Scrviee Bil
(T} Universal Sent Bit
(I  Universal Serial Bus

In a period from 1 to 17, ionisation polenlial
-]

TEMAINE SAME

{B) .cannot be predicted
12y increases
D} decreases

Which of the. fullowing metals can deposit |

capper from copper sulphale selution ?

A Geld (Bl Platinum
(2} Mercury (D) Trom
The ualmospheric layer farthest from  the

Karth's surface is known asz
{B) Btratesphore
(13} Ionopzphere

Mesosphere

(C) Exoephere

The temperate grasslands of South America
are called

(A} Steppes (B} Prairies
() Pampas (I Downs
Contours are the lines which are drawn

joining places having

A) equal temperature

(Bl egual height from mean sea level
(3} equal rainfall

(DM equal aw presgure

Soil formed by leaching and oxidation iz
A} Montanc aoil

(R)  Black anil

C)  Laterile asoil

(D} Red soil

-
ik,

7.

TR.

20.

B2,

84,

Which strait separates Austealin and
Tasmania ¢

(A} DBerring [B] Bnss

() Bab-el-Mandeb (1) Palk

Tn plant — water relationships, syihbal *ww’ is
used Lo represent

[A)
i

A molecule  In

(B Osmolic pressure
(I} Solute potential

Osmosis
Water polential

mlanls
hacmoglobin in animals is

comparable  to

(A Carotens (B} Cylochrome
(i Cellilose (1} Chlorophyll
An Anligen is

(A1 the residue of an Antibody

() the result of Antibody

(2 ihe opposile of Anlibody

i1 the slinulus for Antibody formation

Bleod dees not coagulate inside the body duc
to the presence of

[A)  Fihrin (B Plaama

i) Haemoglohin (D) Ileparin

Lecch iz an ectoparasite on eattle, which is
(A Herbivorous (R Carnivorons

0 Omnivorous (1 Sunguivox"uus

How maeny chambers does a mammalian
heart have ¥

(&) 3 (B} 4

(Cy 1 ) 2

Whern  Arsenic  atoma  are  added  te
Germanium lattice it hecomes afan '

{A)  DBxlrinsic semiconductor

(B)  Insulator

(01 Superconductor

(D7 Intrinsie semiconductor

Pheton is the fandamental unit/quantum of

(A} lighi ‘B pravitation

(0 nlectricity (D} magnetism

A liguid disturbed by stirring comes to rest
. due tn

tA)  contripetal foree  {B3) denaity

{0 surface lension (1) viscosity

AC 2013/ Page. 16
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85.

86,

87,

8.

59,

o0,

21.

B2,

Who was the captain of the Wesl Indies
Cricket toam, which won the T-20 World
Tup 2012 7

(A} T3 Brave (B} Ravi Rampaul
{C) Chns= Gayle (13 Marlon Samuels

Which foothall player has won the FIFA
World Player Award (FIFA Ballon d°'0r) for
four years in a row 7

(Al Michel Platini

{B)  Andres Tndesta

(C1 Christiano Honaldo
(13 Lionel Mesai

Which among the following is vsed to dilute
oxygen in the gas cylinders uaed by divers 7
(&) (B) Krypton
() I} Helium

Weon
Argom

Which mme of the following does nof form
onxyacid ¥

(A)  Fluorine (B Sulphuar

() Chlorine (D) Nitrogen

The release of which of the follnwing into
ponds and  wells . helps  in contreolling
mosguitoes ?

(Al Gambusia ish (B) Snail

(C) Crab (D) Dogfish

The ambient air is stable when the ambient
lapse rale is

(Al Buper-adiabatic (B} Neuirally stahle
(C) Hyper-adiabalic (I3 Sub-adigbatic
Exposure o mixtures of chemicals are

greater than expected on the basis of effecis
of exposure te each chemical individuslly,
This is known as

LA
(Cy

(B} Additives
(D) Synergism

Independent
Antagnnism

The filtor over which sewage is eprinkled is
called as

{A)  Intermittent sand Glier
{(B) Trickling filter

{C)  Percolating flter

(D) Contact hed

03.

91.

L

26,

a7.

88.

99,

100.

TA)

Which thres

country  has capitals  wviz,
Administralive, Legislalive and Judicial 7
A} SHnitth Alriea (B) Chile
i Malaysia (D) Canada

How many conuntries in Adrica are members of
the Organisation of Petroleum Exporting
Crountrics (OFPKO) 9

A
{891

(B) Four
m Two

Three
e

Wha is the Chairman of the 14" Finanee
Commission 7

(A Dr, ¥V, Reddy

iB; D. Bubba Rao

{82} Montok Singh Ahluwalia
{0} M. Gowvinda Ran

The largest eoral recf in the world is found
near the coast of

(A1 Cuba (B} Braril
() Australia (D) Sri Lanka

Which one of the [wllowing Indian World
Heritage Siles is not in Madhya Pradesh ?

A) Rock Shellers of Bhimbetka
(L) EKhajuraho Temples -

(C) Sun Temple, Konark

(1) Sanchi Stupa

Who won the “Misz World” title for 2012 7

(B) Alexandria Mills
{1 Wenxia Yu

Ivian Sarcos
(20 Vanya Mishra
Who was the 0Orsl Hindi writer to rececive
Jnanpith Award ?

(A1) 8.1 Valsyayan

() Mahadevi Verma

I Bumitranandan Panl

(D) Dr. Ramdhari Singh Tinkar

Who is the anther of the book “A Crickeling
Life™ ?

(A Tony Greig

‘B Christopher Martin Jenkins
(0} Bunil Gavaszkar

(D}

Kapil Doy

SPACE FOR ROUGH WOQRK
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101.

102,

103,

10,

1065,

10:6.

107,

108.

PART - C : QUANTITATIVE APTITUDE

A box has 100 blue balls, 50 red halls,
fi0 hlack halla. 26% of hine balls and 5G0% of
red balls are laken away. % of black balls at
present ia

(A 40% (R hos
(C) 25% (T 33%%

A and B together can complete a piece of work
in 12 days, B and C can do it in 20 days and C
and A can do it in 15 days, A, B and C together
can complete it in

(A) 10 daya (B 12 days

() 6 days (D) & days

A and B together can eomplele a work in
3 daya. They start together. Bur, after 2 days,
B left the work. If the work is compleled after
2 more days, B alone could do the worl in

(A} 8 days (B) 10 days
{C) 4 days (M 6 days
A does 20% less work than B. IT A ecan

: 3 e I
complete a picee of work in 7 9 houra, then B

can do it in
(4 B hours
(2

(B} 10 hours

4 hours (TN & hours

: 3 3.
A rational number between — and — is

) 12 7 15
B i 48]
16 i o el 3 : 2]

Produet of two co-prime numbers is 117,
Then their L.C.M, is

(Al 30 (BY I1¥ (G} 5 [ 13
The diameters of two circles are the gide of a
square and the diagonal of the sguare, The

ralio of the areas of the amaller circle and
the larger cirele is

(A

Ay 1 J2 B

- 1:4 (D) 2 : 43

The total awflace area of a spheoro s
B sguare unit. The volume of the sphere is

843 Tl : _
(A) —Zq eubic unit (13 ﬁ:fl: cubie unit
1 R‘ = = P T ¥ : i

() jﬂ cubie unit (DG 8431 cubic unit

109,

114

111.

112,

113.

114,

114,

1146,

117.

A conieal Mask ig Tull of water, The flask has
base radius r and height h. This waler is
poured into a eylindrical flask of base radins
mr, The height of waler in the cylindrieal
Nask s

h

et ) e
3 ® 2h

A doren pairs of socks quoled at T 180 are
available at discount of 20%. How many pairs
of aoeks can be bought for T 48 7

(A} (B} 3 pairs

() (T 2 pairs

The marked price of a table a8 T 12,000, If it
was sold for T 10,600 after allowing a certain
dizeount, then the rate of discount is

2h

I

m h ]

tA) (B —m= (I

i prirs
4 pairs

(A 10% (R} 17-5%
oy 10 (T 12-5%

The marked price of a radio set is T 480, The
shopkeeper allows a discount of 10% and
gains &% If no discount is allowed, his guin
percent woeuld be

(A 200 {B)-25% (C) 18% (D) 1B.5%
The prices of a =chool bap and a shoe are -
in the ratio 7 : 5. The prive of & school bag ia
T 200 more than the price of a shoe. Then the
price of 8 shoe 1z

Ay T L2000 (B) ¥ 200 (C) 700 (D) 500

A gum of T 300 is divided among P,  and R in
such a way that. G geta 20 more than P and
I pels T 60 more than {)."The ratio of their
share ig

1y ) - L k2 [ R R

[e3r, B 3 o B P R

The average of nine numbers is 0. The
average of the first five numbers is 54 and
that of the last three numbers is 52, Then the
sixth number is

(A 44 (B An () 34 Dy 24
The averape of the frst nine intogral
multiples of 3 ia '
(A 18 EHy ey My 12 ™ 15

An article is sold for $ 300 al a profit of 20%.

Had il been zo0ld for ¥ 235, the loss percentage
; would have been

(A & (B) 16

(Cy 3 (D) 5
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118.

119.

120.

121.

122,

123,

124.

125,

Ir Sxed Aped oo 0, then the
x ¥ P
value of = + e 18
A
(A) 6 {B) 9 <y 3 (4

Find the simplest value of 250 + V18 — 72
(given +/2Z = 1414}
(Al 8484
{C} 89-598

(B) 4-242
(1) 10-3123

It a* +b? +4° =2{a + b— 2} — 3 and a, b,
the value of {a2 +bE 4+ D is

1 1
2= @M 3 3=
3 ) (Cl 3

¢ are real, then

(A) (D) 2

A number x when divided by 26% lcaves 18
a3 the remainder. The rame number when
divided by 17 leaves ¥ as a remainder. The
value of ¥ is

Ay 1 (B 5 ey 2 oy 8

Two cars are moving with speeds v, %y
towards a crossing nlong  iwo roads. [T
their distances [rom the crossing be

40 melres and 50 metres at an instant of
time then they do not collide if their speeds
are such thal

(AL vlzv2=25:'lﬁ
(B} wy:vw,=16: 20
) vy :\-'23“4:5
D v vy ®d 4

A certain distance iz coversd at a ccrinim
speed. I half’ of this distance iz eovered in
double the time, the ratio of the two speede ia
(A 2:1 (BY i1 .12

e 4:1 (D) 1:4

The simple interest on T 4,000 in 3 years at
the rate of x5 per annum equals the simple
interest on ¥ 5,000 at the rate of 12% per
annum in 2 yvears. The value of x is

(4) 9% (B) 10% () 6% (D) 8%
¥ x%—8x+ 1 =0, then the value of
= T d
b ey
<2
{A) B (B) 10 (C) 2 m 6

126.

127.

1285,

129,

130,

131,

132.

N is the foot of the perpendicular from a
print P ool a cirele with radive 7 cm, on a
diameter AB of the circle. IT the length of the
chord PD s 12 ¢m, the disvance of the poind
N from the puinl B is

2 e B

{A) 105 cm (B) 6= em
i T

icr ]25 am (D 3% it

An ecquation of the form ax + by + ¢ = 0
where a »# 0, b = 0, ¢ = { rgpresents a
straight line which passes through

(Ay (3, 2} (B) (2, 4)
i I 0 e (D) None of these

The numeraler of a fraction iz 4 less than its
denominator. IT the numerator is decrcased
by 2 and the denominator is increased by 1,
ithen the denominater becomes eight times
the nomerator. Find the fraction.

> il e D ow g
Fxoytg vi=z+x and 7 =x+y,
then the value of ; i—x-+1—':_}:+-1}_z is
Ay O By -1 ) | (I 2

In & iriangle ABC, £ A = 807, 2 €'= 557,
AD L BC. What is the value of 2 BAT 7

iA) 5R°

(B) 35"

1£ G is the centroid of A ABC and
A ABD = 48 ¢m®, then the area of A BGC is

)y so (M} 45°

(A) 24 cm? (B 32 em®
(C) 8 em? (D) 16 em?
The diagonals AC and BT of a cyclic

guadrilateral ABCD intersect each other al
the point P. Then, it ie always true that

(A} AP.CD=AR.CT
(B Br.AB=CD.CP
(C) AP .CP=REBP.LP
(D) AP, BIP = CP. DP

SPACE FOR ROUGH WORK

AC 2015/Page. 92 @



133.

134.

136,

136.

137. .

138.

1349,

140.

141.

If cos 0+ 6in 6 = 2 cos 0, then cos B — sin ©
i8

(A L2 gin B (B} +2 tan 8
(C) — +'2 cos B (D) — /2 sin B
If tan @ = n tan B and sin o = m ein fi,
then cos® @ is
2 2
ay 2L 5 ()
n“+1 n“+1
2 2
m ; ; -1
C) — D mg =
n n“ -1

I cos? 0 —sin! 6= %, then the valne of

1= Zgin® § is

1 4 e )
Al = i 0 Dy =
(A : (B} 3 [y 2
Ir O be the circumeentre of a triangle PQR
and # QOR = 110°, 2 OFR = 25° then the
measure of £ PR is

(A} 60 (B} &5° {(C) 'BD°

A verlieal stick 12 cm long casts a shadow 8 cm
long om the pround. Al the same time, a lower
easts a shadew 40 m long on the ground, The
height of the tower is ;

(A TDm
My 60 m (M) BH m
A, B, C, 1D are four points on a circle

ACand BD intersect at & point E such that
s RBEC=130°and ~» ECD=20". ZBACIis

(AY  110% (B} 120 (C)-B0% .- (I 100°
In a triangle, if three altitudes are equal,
then the triangle is

(17} - &R°

(B) 72 m

(&) Taceceles (B3 Obtusze
{1 Eguilateral (D} Right

The lops of two poles of height 24 m and
36 m are conmected by a owire, IT the wire
makes an angle of 60° with the horizonial,
then the length of the wire i

(A} 8643 m (B} 6 m

(C) 843 m (D} 8 m

The value of ) NP ,l ia
i cosec —cotl  sin 6

(4] tan O By 1

{C} cot b (D} cosee 0

142,

143.

Direclions :

1 1

+ : i
(I—tanZ @  (L+eot? s

The value of

LA) (R} (cy 1 oy 2

1
2
If tan 8= % and O iz acute, then cosec
iy ;

[A) é
2

L

4 o nE
3 l']:j i}4

(=

(B}

Shown below s the multiple bar

diagrar depicting the changes in the roll strength of
a eollege-in four focuities from 20071 — 02 o 2003 - (k.

144,

145.

144.

HU.U ...7_....._..-.-----.......................—..

BR0 |- - sy e
g soof- [ o e
o1 By Py i
& wu----?’-_ A 7
B B 78 -
: s :: ?f::.
Tl e o SRR i (e R /
Z gon|-{ fae /i 0

150 -4 2 g

o /l

2002 - 03 2008 - D4

:j Arts . Commores
Bﬂcienm E Law

Study the above bar diagram and answer the
quesfions no, 144 to 146

2001 — 02

Percentage of increase in Svience students in
2004 — 04 over 2001 — 20032 is

(A) 6629 B) 75%

() 50*:% D1 150%

The percentage of students in Science faculty
in 2001 - 2002 is

[A)  29-6% (B 302

(C) 26-9% (1 27-8%

The percentage of students in Law faculty in
2003 — 04 18
Ay 16T
oy 18-5%

By 14-8%
(D) 15-6%
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Directions : The follwwing pie-chart shows the
marks scored by a student in different subjecis - viz.
Physics (PR, Chemisiry (Ch), Mothemuntios (M),
Social Secience (88) oand English [(E} in an
examination. Assuming thof tofal rmarks obiatned for
the exominotion (s SI0, answer the guestions Ro.
147 _ 150,
o e

585
55°

| T

145. The difference of marks between Physice and
Chemistry is same as that between
(&) Enpplish and Social Science -

[B) Chemiatry and Social Science
{C)  Physiea and English
(D} Mathematics and English

148. The marks oblained in Mathomatics and
Chemistry excecd the marks obtained in
Physics and Social Science by

(A) 46 (B) 50 (C) 30 (D) 40
The subject in which the student nhtained’
1135 marks is

[A) Mpthematics
(C)  Physies

148,

iB) English
(D) Chemistry

150. The marks obtained in English, Physics and
Social Science exceed the marks obtained in
Mathematics and Chemistry by
A 11% (B) 11%%

(€) 10% D 1ple
8

FOR VISUALLY HANDICAPPED
CANDIDATES ONLY

T 120 is divided among X, Y and % =0 that
X's ghare iz T 20 more than Y's share and
2 20 less than #'a. Whal is Y'& sharc ?

tA) T 20 B T15

o T80 () ¥ 25

144,

145,

146,

147.

148.

145,

Atangent PT from P to a civcle of radius 8 cm
has s length 15 cm. The distance of P from
the centre of the circle is

ra) 18 cm {B) 20 em
(3 18 cm Dy 17 ¢m
I xcos ®=3and 4 tan 0 = ¥, then the
relation  hetween % and vy, which s
independent of B, iz given by
W a1 I -L -
; 16 i Z
il o R L L -

X ¥ d 15

Il the numerator of a fraction iz increased by
200% and the denominator of the fraction is
increased by 150%, the resultant fraction is

o o - 5
_. The original fraction is

a6
Y ey S e B
14 16

15

10

¥

The highest score in an innings was 43 af'

the total and the next highest was % of the

remainder. If the scores differed by &, then
the total score is

LAY 121
(Cr g

(B} 132
oy 110

Three boys step off Trem Lhe same places. 1
their steps measure 36 em, 48 ¢m and 54 cm

respectively, at what distance from the
sLarling point will  they agpain  step
together 7

(Al 3 m 382 cm (B} 4 m 32 cm

(C) 1m 32 cm D 2 m 32 cm

x is one more than 3 times ‘8", v ig 7 less
than twice ‘a’, z is 3 less than ‘&% I 6 Limes
the square of z is 7 less than x multiplied by
v, then the value of 'a" ig

69 R b S 1 AT (c) 3 Dy 2
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Ry : Fefafey gone 0% B 5 0% WA §
fafi fysl & s s sl & ar 9w (PR,
T (Ch), T (M), FATTE e (SS) 37 #06
-E}iWFHW%WW@WW&HJ?JW#
W 147150 % I )

147.

148.

148,

150.

144,

wiffhl AN wWET § A" s a1 S I 8@
& fae & d@rg |

(A) St e wfaes fasne

(B) TEEA I gEes fFEe

() wife= i sids

(0 T &t afEE

e F TEEA § Are o wifae o9l gt
famm # 9 s & e S § 9

(A) 465 (B) 50 (C) 30 (D) 40
B 7 g famg 7§ 135 3% wna faw 2
(A} THOTE (B) iUt

(Cy wifE=E (D) THEA

IS, Wi i wew fawm § 9w eiw
Tt T A oA o 3 e afuw ¥

1

(A) 11% (B} lla%

(C) 10%

&ae gfeafan Iofeant & fow
X, YR Z& s T 120 7 =9 w&R ffa
fFm ST 8 B X0 3w Y F 3w 9 T 20
s @ 3 Z2F AWM A T 2w HET R | Y H
3ty fargm g 7
(A) T20
(C) T30

) 101%
=]

{B) T15
(D) T 25

145,

L4465,

147.

148,

8 Wl A A g9 W P W eyl Y pT #
g 150 & | 9w bm ¥ P Al g fem
g ?

(A) 18 T (B) 20 GHi

() 18 | (D) 17 &+
qﬁxmsﬂ:S:’}fﬂ:{-tﬂnﬁzmﬁT x3-ﬁ'{_v$[
was A 0 0 Way g, g 1R fuifa e

Iy ?
, 2 N
o 2o w2 Lo
x v 9 16
St 16 . £ 2
(8] "'sz’_:;:l l'J_HxL};--_l
¥ 9 16

e foelt firm 3 sier &1 200% o @5@r S @
R B % w F 150% 9% " W 8, &
wﬁrrrr'frfﬁ% A & | ARy g P w
A 7

(A) 2 AT = 3

T (Bl — iy —= 0y —
T ey ) 18

Hwﬂﬁmmwmmq-i ur
] wﬁﬁwmmrﬂh qr | 4z
T F 9 F W A, A 3o W e @ 2

(A) 121 (B) 132
() By Dy 110

. A9 TEF UF & W W 9 | 97 399 #A

YT 36 WA, 48 Tl b 54 Bt A, @ weE
g 9 fedtt g ™ 3 fR & wH-wg wow
T ?

(A} 3. gz o
(€ 17 a2 T

(B) 4 T, 32 99
(M) 2 #1. 32 ¥

L XA H I HUE AEF R, ywd S U7

W%,z‘a’ﬁﬂﬂ%lqﬁz%ﬁﬁﬂﬁﬁw,x
my%WﬁTW%,?ﬁ'a’WWW
2 ?

(Al -1 (B) 4 i) 3 oy 2

T T & FE e
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PART - D : ENGLISH COMPREHENSION

Mrections ; In questions no. 151 {0 156, some parts of the sentences fiave errors and some are correct,
Find out which part of o senfence has an errar and blacken he oual (@ ) corresponding io the approprinte
leiter (A, B, C). If o0 sentence is free from error, Mlacken the oval corresponding to (T in the Answer Sheet,

151, Tf we have no definite aim before va / we would enly wonder saboul in aimless porsuits /

(A
and achieve nothing. / No error,
() ~D)

- 152,

LY LY}

JB)

He is anxious not only / to acguire knuewledge / but alao eager to display it / No error.

LN (I}

153, T went to / ape the Taj Mahal { in a moonlit night, £ No error,

LA (B)

NS
154,
LA

1585. Being a holiday, / wo went out / for 4 picnie.

/Eﬁ} (B (Ch

()

Hawing found a piece of cheese, / two cats went fo a dog / to divide il amoeng them, / Ne error.
(B)

(o

e

i No error,

K

IMrections ; In gquestions no. 166 to 160, senlences
with blenks to be filled with an
oppropriote word(sl, Fowr alfernetives are suggested
for voeh guesiion, Choose the correct alternotive out
af the fowr omd indicote 8 by blnckening the
appropriate sual (@ ) in the Anser Sheet.

are  gicen

158. the new Safari Storme, Mahindra

has moere leverage in incropsing the sales.
(Al In (B With

(Cl At i} Om
157.

The passenger car sales showed a decline

T% Lo 5-6%.

160, Many Tamil-apeaking St Lankans
from the island to escape the military and its

alrocilies,
(A flow () fOdown
Mee

(]

‘/ﬂm fled

MMrections ; In questions no. 161 to 163, out of the
four alfernalives, choose the one which best expresses
the meaning of the glven word and marg 1t in the
Ansiwer Sfieel,

161. Ha]lucinat‘:uq

(A) Ao ﬂ from (A} deception _/LH] delasion
2 for (D) of , ;
: (Cy  habatat (D) dress
158. There 18 a _amount of fatly acids
and carbohydrates in some of the imported 1r03a Salacions
f
chocolates. II\L") (&) lu=tful B) angry
(A} neglected (B) neglecting i1 unhappy ./Iﬁl satisfied
(7} negligent 1 megligible
1539. I'm not as succesziul she ia. 10 S
(A) than (B) then " obtain LH) eontgin
\;.lj)" a8 (DY like iChr  altain (D sustain
. SPACE FOR ROUGH WORK
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Directions : In questions no. 164 to 166, choose the
word opposite in meaning to the given word oand
mark it in the Answer Sheet.

164. Aggravate

(A) alleviate ‘B depreciate

(C) extinguish [} subsidize
165. TIndelibla

(A)  temporary (B) decorous

(¢ surprising (1Y) concerted
166. Retrench

(A)  recruit (B) revamp

{C) baelie (M) deviate

Directions : In questions no. 167 to I71, four
alternatives are given for the [lTdiom [Phrose
underlined in the sentence. -Choose the alternaiive
which best expresses the meaning of the
Idiom /Phrase and mark it in the Answer Sheet. ;

167. Ower the years, we remained loyal throuph

thick and thin. e
,b_f.aﬁ in epite of all the difficultics

(B} to our principles

() to employers and subordinates

(D} in married life

My ten-year-old son is an incredible live-wire.

(M) energetic (B) lazy

E‘(}'d dangerous (D} maughty

He had to cool his heels before he could get
an appointment with the doctor.

168,

169,

(A} to lose one's temper
48}  to be kept waiting

Directions : n questions no, 172 fo 181, a

gentence { part of the senfence s underlined. Below are

given alternatives to the underlined sentence ! part of
the sentence at (A}, (B and (C) which may improve
the sentence. Chovse the correct alfernative. In case no

improvement is needed, your answer is (D).

172. The vivid photos of majestic animals and
colourful birdes from the wild-life park is a
graphic depiction of what is beautiful in the
eontinent of Alrica.

‘)«ﬁ
(B
()

are praphic of what is
beautiful in :

is-a beautiful and graphic depiction of
iz a pgraphic depiction of what was

heautiful in

depictions

(I

Mew thiz laboratory should
anticipate excellent research opportunities
and getiing valuable clinical experience.

No improvement

174, hirgs in

{A) and also getting (B) and obtaining
[ as well as (D) No improvement
174. 1t is more better to take this route than the
other one,
(A}  bettor iB) more good
{C) good (I} No improvement
175. She is absent; she must be sick again.
(A} She iz absent; she i sick again
J[B] She is absent; she must have been sick
again
() She iz absent; she has been sick again
D} No improvement

176. Jackie haz already gone (o the airport she

iC)  to make publicly known will meet us at the check-in counter.
(01 to excercise influence L}A‘J gone to the airport and she will meet us
, : ] {B) gone to the airport, she ought to meet ns
170, The captaing of the rival teams should try fo (C) gome to the airport and Jackie will meet
bury the hatchet. il
?ﬁ} forget the past (D} Noimprovement
(B) put up a stiff competition .
s - ¥ 177. The place at which the two roads meet, you
) make peace - :
() win the game will find a small log cabin.
(A} At the place where the two roads meet
171. He atopped at the bar to wet his whistle, (B} The place where the two roads meet
fﬁk} have a drink {B) have a nap () Where the two roads meet '
(C) be happy {D} have a problem {13 No improvement
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178. The Blue Whale, weighing more than 150
tona, the largest known animal en Earth,

ol

weighing more than 150 tons, is the

(B)  which weighe more than 150 fons, being
the

{1 weighing more than 150 tons, it s

(I3 Noimprovement

179, Although T was initially apprehensive, 1 fonnd

the eating of snails o be a rather pleasanl

experierica. ;

(A1 I found the snailz experienced

(B1" I found it to be a more pleasant
Bxperience

(2} 1 ate the pleasant snail's experience

Vyﬁ) Mo improvement.

180. The man atc on apple, an orango, and washed

his handa.
(A} anapple, an orange, washed his hands
(Bl an apple, an orange and his washed
hands
Jﬂg‘ an apple and an erange, and washed his
hands
{1 Noimprovemenl

181, After we ate a spectacular nine-course dinner,
three television shows were watched by us,

(A) we engaged in the watching of three
shows
UXH‘J we watched three televizion shows
{C)  we were watching three television shows
(D Noimprovement

Pirections : In gquestions na. 182 to 1858, oul of the
four alternatives, choose the ome which eon be
substituted for the given words [ sentence and tndicete
it by blackening (he appropricte ovel (@) in the
Answer Sheel.

182, Not easily pleased by anything
A M7 Fastidious
(C) D) Medieval

Precarious
Maiden

183. To die without having made a will

(AY  Insolvent (B} Intaglio
) Inveterate £ Tntestatc

T
LY

184, One who enjove inflicting pain on himeelf

AA)  sadist (B masochist
(C}  nihilist D} egoist
185. Murder of a brother
{A)  Hemicide “F Fratricide
(C)  Patricide i1} Regicide
186, More like a woman than 8 man in manners

and habita
Ay Delicaie
J_C:ﬁ Effeminate

B} Unmanly
(M Womanish

'187. Handwriting which iz difficnlt or impossible
Lo read '
141 llogieal (B1 Unintelligible
() Eligible (D7 Tlegible

188. To play the pari of, and function as, some
vlher person
(A Act (Bl Imilate
(7 Pretend ‘)Jﬁ Impersonale

Directions : In Questions No. 189 fo 190, four words
are given in eoch question, oul of which only one
word iz correctly spelt. Find the correctly spelt word
and mark your onswer in e Ansuer Hheet.

189. (A annthillate (B} anihilate
J27 annihilate (D} anihillate

190, (A) embarTased (BY embarased
L}ﬂ] emhbaraszed (I} embarraszed

Directions : In gquestions no, 197 to 200, vou have a
passage with 10 guestions. Read the possage carefilly
and choose the best answer to each guestion out of the
four alternaiives and mark it by bockening the
appropriate oval [ @ ) in the Answer Sheet.

Passage (191 - 200)

Many people who are looking to gel a pet dog
get a puppy. There are many reasons why people get
puppies. After all, puppies are cute, friendly, and
playful. RBut even though puppies make good pets,
there arc good reasona why vou should comsider
retting an adult dog instead. When vou got a puppy,
you have to teach it how to behave. ¥Yom have to
malke sure that the puppy ie housebroken so thal it
does nol go to the bathroom inside the house, You
have to teach the puppy not to jump up on your
zuesls or chew on your shoes. You have to train the
puppy to wall on a leash. This 13 a lot of work.




On the other hand, when you gel an adult dog,
there is a good chance that it will already know how
to do all of the previously mentioned things. Many
adult dogs have already been housebroken. Many,
adult dogs will not jump on or chew things that you
do not want them lo jump on or chew. Many a:lultg
doge will be able to walk on a leash without pulling
vou to the other side of the street.

Puppies alsn have a lot of energy and want to
play all of the time. This can be fun, but you might
nol want to play as much as your puppy does. |
Puppies will not always sleep through the night or
let you relax as you wateh television.

{Omn the ather hand, most adult dogs will wail on
you ta play, What is more, they will sleep when you
are sleeping and are happy to watch televizion on
the couch right beside you. There iz one last reason
why you should get an adult dog instead of a puppy.
When most people go to the pound to get a dog, they
get a puppy. This meansz thalt many adult dogs
gpend a lot of time in the pound, and some never
find good homes. So if you arve looking to get a dog
for a pel, you should think about getting an adnlr
dog. They are good pets who need good homes,

191, The pnésagc speaks of
(4) how puppies can be very desiruective
Il_/{ﬁ] the work involved in training puppies
[{85]
(o

the immatlure acls of puppies
how puppies do nol make good pets

192, Which iz the best example of a dog that is

housebroken ?

(A} Rover never jumps on gucats

(B) Muffin chews on people’s shoea
) Spot goes outside to use the bathreom
(D) Rex always breaks things inside ihe

house

193. The author apparently thinkes that puppics are

(A) not as cute as adult dogs
(B) mnot as playful as adult dogs
{C)  hardworking

FS,D} friendly and playful

184. Which is the best aynonym for hehave' as
applicable to this passage ?
(A

train act

listen

3.

195. As used in paragraph 3, which iz the best

aynanym [or relax ?
t/(ﬁ} rest

{A) play
(D) leave

ﬁ“\_ (C) work

1

196./ The author begins paragrapha 2 and 4 with

= 7 the phrase, “On the other hand”, This phrase
15 used Lo

AAY  contradict a later statement
,Q:&ﬂfl gupport the following paragraph
(C)  highlight an example
)} poniradiel previcus information
In the final paragraph, the author says “many
adult dogs spend a lot of time in the pound,

and zome never find good homes,” Based on
the passage, why s this most likely ?

(iﬂ]

1

_—

&

peaple think that puppies are cute and
flavful and do nol always think aboul
how much work il will lake wo Lrain them

(B} People do not want Lo get a dog that does
not have mueh time left to live
@ People see adult dogs as unhappy and
dangerous, while they szee puppies as
cute and {riendly
(D)  People understand that most adull dogs

gtill need a lol of iraining before they
undersland how Lo behave properly

Based on the information in the passape, it
can be understond that someone who owns a

puppy musl be very

(A) optimistic ~ _(BY responsible

(C) etrict (D} serious

According to the passage, why is it easier to

take care of adult dogs than puppies ?

I. Puppies need to learn how to walk well on
a leash.

II. Adult dogs have less energy than puppies.

III. It is harder for adult dogs Lo find a home
than it is for puppies. ©

(B) 1, 11 and 111

19/‘1 and II only

Based on the information in the passage,
which of the following statements is false 7
453 Adult dogs do not like to play

199,

{A)
{C)

1l and L1 only
Tonly
200.

(C) (D) undersiand

(B)  Adult degs do not need to eat very much
() Puppies have a lot of energy :
(D} Puppics necd a lot of attention

L )
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